ASSEMBLY INSTRUCTION
MORA LOUNGE SET NATURAL

Omme o 760 mm ——=—

WF281655
WF281656

Notice:
1. 50% Tighten before fixing all screws, Allen wrench is

recommended instead of an electric drill.
2. Place the item on a flat ground to adjust and make sure

it remains stable.
3. Tighten up all screws with tools gradually.
4. If the screws are not aligned with holes during asembly,

please loosen all the other screws to 50% and continue

the assembly process.

5. If the item is not stable, please loosen all the screws,
adjust it on a flat ground and tighten up all screws again.

6. Note: If one or some screws are fully tightened during
assembly, chances are the others will not be aligned with
holes. In addition, all the holes are designed to be relatively
larger to provide more space for the adjustment of the screws

1/22




Ax4 Bx8 Cx57 Dx4
WW‘ \._/ W‘m“
M6&x90 mm M6x30 mm @16x1 mm MEx60 mm
E x 33 Fx17 Gx17 H x 2
M6x40 mm M6x55 mm 50x50x65 mm 4 mm
Jx8 K x 2 Lx2
M6x4 mm 25x88x2 mm

2/22




BOX 1/2

©®

1230x600x45 mm

-

—_——

Z)

% \

—

©)

/|

815x555x135 mm

1230x600x60 mm

—_——

3

550x500x60 mm

——

@

1130x500x60 mm

@

1135x260x50 mm

710x255x25 mm

@xz
1

560x370x60 mm

z)

600x260x50 mm

550x500x30 mm

/@
/

815x545x5 mm

@

1235x255x30 mm

3/22




BOX 2/2

Q

1130x500x30 mm 1135x710x95 mm 710x560x95 mm

©

[e] |

710x560x95 mm 550x260x30 mm 510x260x25 mm

®x4

{

565x545x60 mm 565x545x60 mm 550x460x120 mm

565x545x60 mm 565x545x60 mm
Notice:
1. 50% Tighten before fixing all screws, Allen wrench is
recommended instead of an electric drill.
2. Place the item on a flat ground to adjust and make sure
it remains stable.
Tighten up all screws with tools gradually.
4. If the screws are not aligned with holes during asembly,
please loosen all the other screws to 50% and continue
the assembly process.
5. If the item is not stable, please loosen all the screws,
adjust it on a flat ground and tighten up all screws again.
6. Note: If one or some screws are fully tightened during
assembly, chances are the others will not be aligned with
holes. In addition, all the holes are designed to be relatively
larger to provide more space for the adjustment of the screws.
4/22

o







Hx1 Kx1

4 mm 25x88x2 mm
A D F E
L] L
L]

Ex8 Cx12 IJx4
@ W :
M6x40 mm @16x1 mm M6x4 mm




( : ) ST
M6x55 mm 50x50x65 mm 4 mm

7122




760 Mm ————

8/22




AXx?2 Cx4 Ex2 Hx1

M6x90 mm @16x1 mm M6x40 mm 4 mm

>

A\

M6x90 mm M6x60 mm M6x55 mm M6x40 mm M6x30 mm

@16x1 mm M6x60 mm M6x40 mm M6x4 mm 4 mm 25x88x2 mm
A F B
%}
7




Cx4

@16x1 mm

Ex 4

WW




M6x55 mm 50x50x65 mm 4 mm

11/22







Ex1 Hx1

M6x40 mm 4 mm

M6x90 mm @16x1 mm

A
M6x90 mm M6x60 mm M6x55 mm M6x40 mm M6x30 mm

80%
Cx5 Dx1 Ex3 IJx1 Hx1 Kx1
\ S/, K
@16x1 mm M6x60 mm M6x40 mm M6x4 mm 4 mm 25x88x2 mm

A
@
v
g

A\




@ @)WWW
M6X30 mm

Bx3

Cx3

@16x1 mm

Bx1 Cx4 Ex3 R
M6x30 mm @16x1 mm M6x40 mm 4!m
E
@ . o
! A Zz 80% »

14/22




Fx4

Gx4

WWWW» Hx1

°O°
M6x55 %
mm

50x50x65 mm ®

A










Ax1 Cx2 Ex1 Hx1

M6x90 mm @16x1 mm M6x40 mm 4 mm

A\

80%

Cx4 Dx1 Ex?2 IJx1 Hx1 Kx1

%%@

@16x1 mm M6x60 mm M6x40 mm M6x4 mm 4 mm 25x88x2 mm

F E B

Ko X

M6x60 mm M6x55 mm M6x40 mm M6x30 mm

A\




Bx1

)

M6x30 mm

Cx4

@16x1 mm

Ex3

M6x40 mm

Hx1

=

4 mm

A\

X

M6x55
mm M6Xx40 mm M6
x30 mm

Bx1

) o

M6x30 mm

Ex2

™

M6x40 mm

C \D

E\~

19/22

A\

X

M6x55
mm M6Xx40 mm M6
x30 mm




Bx2
)
MMMMMM m 2







22/22

SSSSS




